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- A substance with which of the following pH values would be most damaging to the cornea? (1) 1.0, (2)3.0, (3)7.0, #H)10.0
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. Renal tubular cell injury is NOT commonly mediated by which of the following mechanism? (1) loss of membrane integrity,

(2) impairment of mitochondrial function, (3) increased cytosolic  Calcium concentration, (4) increased Na*-K*-ATPase
activity, (5) caspase activation.

. The kidneys constitute 0.5 percent of total body mass and receive approximately how much of the resting cardiac output?

(105t 1%, (2)5%, (3)10%, (4)201t025%, (5) 50 to 60%.

. The reactive oxygen species (ROS) inflict oxidative damage on the lungs are generated by all of the following EXCEPT:

(1) tobacco, (2) neutrophils, (3) ozone, (4) monocytes, (5) SO,.

. Which of the following characteristics is LEAST likely to place a neuron at risk of toxic damage? (1) high metabolic rate,

(2)ability to release neurotransmitters, (3) long neuronal processes supported by the soma, (4) excitable membranes ,
(5) large surface area.
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(5)12.0.

. Which of the following characteristics is WRONG description to cardiac glycosides? (1) increase the activity of the

Na*-K"-ATPase activity, (2) make the resting membrane potential more negative, (3) can have sympathomimetic and
para-sympathomimetic effect, (4) decrease ventricular contractility, (5) increase AV conduction.

- Which of the following description is WRONG about the causes of “Acne™? (1) clogged sebaceous glands, (2) hormones,

(3) viruses, (4) genetics, (5) environmental factors.

. Ofthe following, which is LEAST likely to be affected by estrogen? (1) nervous system, (2) musculoskeletal system,

(3) digestive system, (4) cardiovascular system, (5) urinary system.

. Chemical blockage of iodine transport in the thyroid gland: (1)affects export of T3 and T4, (2) prevents reduction to 12 by

thyroid hypothalamus, (3) decreases TRH release from thyroid biosynthesis, (4) interrupt intracellular thyroid biosynthesis,
(5) mimics goiter.

. Carbon monoxide (CO) exerts its toxic effects via its interaction with which of the following? (1) DNA polymerase, (2) actin,

(3)microtubules, (4) hemoglobin, (5) myoglobin.
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Please describe the toxic effects of calories and pathogenesis of metabolic syndrome. (5 %)
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